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e We use it to make solving differential equations easier, following this outline:
1. Start with a differential equation.
2. Take the Laplace transform of both sides.
This replaces the differential equation with a much simpler (algebraic) equation.
3. Solve the algebraic equation.
4. Simplify the solution.*
* requires partial fraction decomposition
5. Take the inverse Laplace transform of the solution.
6. This gives the solution to the original differential equation.
e Yes, but WHAT is the Laplace transform? Ask me about it sometime (go on...)
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Euler Equations - Trench: Problem 3

(1 point) Library/Rochester/setDiffEQ9Linear2ndOrderHomog/ur_de_9_18.pg
This set is visible to students.

Find y as a function of x if

2% — 52y — 16y =0,

Y1) = -1, ¥(1) = -10.
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